

14, 14, 14

0. 14, 14, 14

$$\frac{a}{x} \times a \times a = a^3 = x \cdot x \Rightarrow a = x$$

$$x = \frac{14}{x} = \frac{14}{x} \quad x = 14$$

$$\frac{x}{y} + (x + y) = y \quad \frac{14}{14} + (14 + 14) = -x + \frac{14}{14} \quad 14 - \frac{14}{x} = -\frac{14}{x} \quad x = \frac{1}{x}$$

$$\frac{x}{y} + (x + y) = 14 \quad x + y = 14$$

(14, 14)

1

$$r = \frac{n^2 + x}{r \cdot n} \Rightarrow x \cdot n^2 = n^2 + r \cdot n^2 - 1$$

$$n^2 - r \cdot n^2 - 1 = 0$$

$$(n^2 - 1)^2 - 1 = 0$$

$$\sqrt{(n^2 - 1)^2} = \sqrt{1}$$

$$n^2 - 1 = r \Rightarrow n^2 = x \quad n = \pm x$$

(14, 14)

$$a + a \cdot a + a \cdot a^2 + a \cdot a^3 = \frac{14}{11} \quad a \cdot 14 = 14 \cdot 14$$

(14, 14)

$$r = \frac{4x + 1}{x} = 10 \quad x = \frac{14x}{1} \Rightarrow r = 14 \Rightarrow r = 14$$

14

$$A = \frac{4x + 1}{x} = r \cdot r \cdot a$$

$$B^2 = 4x \quad B = \pm 1$$

(11, 14)

$$r \cdot r \cdot a + 1 = x \cdot 0 \cdot a$$

$$B = -1$$

$$A + B = r \cdot r \cdot a - 1 = 14 \cdot 14$$

$$r = \frac{-a}{x} + r \cdot x = \frac{1}{x} \quad a \cdot 14 = -14 + \frac{14}{x} = 1$$

$$\frac{a}{x} \left(\frac{a}{14x} \right)^2 = 1$$

$$\frac{a^2}{14x} = \frac{1}{14x}$$

$$(a^2)^2 = 14x^2 \quad (a^2)^2 = (14)^2$$

$$a^2 = r^2 = 14$$

$$r = \frac{1}{x}$$

14

$$a + r d \quad a + r d \quad a + r d$$

$$\frac{a + r d}{a + r d} = \frac{a + r d}{a + r d}$$

$$a + r d + r a d = a + r d + r a d$$

$$r_0 d + r a d = 0$$

$$a + r_0 d = 0 \Rightarrow a = -r_0 d$$

$$d = \frac{a}{-1}$$

نیز می توانیم از $d = 0$ استفاده کنیم

$$a + d \quad a + r d \quad a + r d$$

$$\frac{a + r d}{a + d} = \frac{a + r d}{a + r d} \Rightarrow a + r d + r a d = a + r d + r a d$$

$$r d - r a d = 0$$

$$r a \quad a \quad d - a = 0$$

$$a_1 = \frac{1}{r} \times r^a = r^a = r a$$

$$r(a r), \quad a r^r$$

$$r a d - r a d = a d - r a d$$

$$r d - r^r = a d - r a d$$

$$r d - r^r = a d - r a d$$

$$r d - r^r = a d - r a d$$

$$r d - r^r = a d - r a d$$

$$r - \frac{1}{r} (n-1)$$

$$r - \frac{1}{r} (n-1)$$

$$\frac{a}{r} + n$$

$$\frac{a}{r} + n = \frac{-1 + n}{r}$$

$$\frac{1}{r} + n + \frac{1}{r} n = -\frac{a}{r} + \frac{1}{r} n + n$$

$$\frac{1}{r} + \frac{1}{r} n = -\frac{a}{r} + \frac{1}{r} n + n$$

$$r = \frac{a}{r}$$

فرض می کنیم $r = 1$

در این صورت

$$r d - r^r = a d - r a d$$

$$r d - r^r = a d - r a d$$

$$a + ad^r + ad^s = vr$$

- 10 (1, a)

$$ad^r - a = \frac{ad^s - ad^r}{\wedge}$$

$$\lambda(d^r - 1) = \lambda(d^s - d^r) \Rightarrow \lambda d^r - \lambda = d^s - d^r$$

$$\lambda d^r - \lambda = d^s$$

$$\frac{\lambda}{\varepsilon} - \lambda = d^s - \lambda d^r + \frac{\lambda}{\varepsilon}$$

$$\frac{\lambda}{\varepsilon} = d^r - \frac{\lambda}{\varepsilon}$$

$$\lambda = d^r \rightarrow \boxed{d = M}$$

$$\frac{\lambda}{\varepsilon} = d^r - \frac{\lambda}{\varepsilon} \Rightarrow d^r = 1 \quad \boxed{d = 1}$$

←

$$\left(\frac{\lambda}{\varepsilon}\right)^r = \left(d^r - \frac{\lambda}{\varepsilon}\right)^r$$

$$a = 1$$

$$\bar{\omega} = \frac{a(ad^r - 1)}{a(d^s - 1)} = \frac{1}{9}$$

$$a(1 + \lambda + u\varepsilon) = vr$$

$u\varepsilon$

$$r = \lambda - 1 = v \quad \left| \frac{1}{9} = \frac{1}{d^r + 1} \right.$$

$$d = r$$

$$a(1 + 1 + 1) = vr$$

$$a = r\varepsilon \frac{1}{\varepsilon}$$

$$r\varepsilon \frac{1}{\varepsilon}$$

$$\boxed{r = 0}$$

$$\begin{aligned} a + ad^r + ad^s &= vr \\ a + \lambda a + u\varepsilon a &= vr \\ a = 1 &= d^r - a \in (1 \times r) - 1 = v \\ a\varepsilon - a_1 &= d^r - a \in (1 \times r) - 1 = v \end{aligned}$$